EAGRAROBREERT — 2 N— ABISH —F

20205F9H28H (B) 7HEIAMIEH

Gl % — L7 2— - XEYTIL (hREB H5R2%K

EREE R

[A&4] 1 7% :3,500,000 @ 23 :1,400,000 @ 33 :875,000 4 3#%&:525,000 .~ 5 7 :350,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= . 4 2 | AHEE 1:36.5 2-2-2-1 [38.6| — 1 472 | FHBE (fRAE)
1lsl5|Fr7Uyx— 54.0 = | AL
RikyA—4IU<I B:x%—4 B B2
SN B2 | WIOER 1:37.1 3-3-32 [39.0| — 3 443 | MEA (f245)
77 AN MZANI 54.0 3) (+2) | BEEAEL
R:FxAL=TF—R B UFTI— JRE s
) it 2 | RS 1:37.8 5-5-4-4 |39.3| — 5 450 | RER (#A1E)
Sa—UY¥v— 54.0 3) @7y | FFERR
R:kyd—&ILYI B:7ON>E— < Bl% e ]
KHEZ : === — FHIEME (fafE)
TAHhTF—/ ud 5.0 (11'318/'2') L R 2 :?;) ;f71>;—7’54x’ (#%)
R:Va-hh7F—/ BIIZ>YFPANILE B4
. 4 2 | RES 1:39.3 6-6-6-5 |40.0| — 4 466 | RER (fiats)
b—t>~U7 540 ®) (1) | BIIBES )
LT TRy N B2 FTF BREEHM IXT177—L4
S8 = i 2 | E2EER 1:40.9 4-4-5-6 | 42.1| — 6 502 | BEEET (A
6111 LA 2EKR—hF— 54.0 (8) (-6) nEEss=
R:ZAPEATT—X B:IVELCH— 2% 1§
® 1 —F—@EBIERL
1T=7r= 3,5,4,1,2,6
2a=5F= 3,5,4,1,2,6
Ja=9= 3,5,4,2,1,6
43—+ — 5,4,3,2,6,1
[ N5
B 5 1204 714K 4-5 130M B E 4-5 220 JEE 2-4-5 530
B B 5 1004 2-5 190 B H 5-4 280M 3B 5-4-2 1,010
4 1504 2-4 290M

ARICOVWTRDTEEERROODE. TR LI,




